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void bubble sort ()

{ int last,sw,i,w; s
last = 1; sw = 0; Hj’_‘]"bf/@—%?”‘é?l}ﬁ
while (sw != N-1) {

sw = N-1; <—B—1§f~3¢?@’ETTOT’iﬁFﬁ

for (i=N-1; 1 »>= last; 1i-
if (a[i) < ali-1]) f{
w = af[i]; al[i] =

}

last = sw+l:;

}

afli-1]; a[i-1] = w; aw = i;

)
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ink -guick=ert fint p. int.q)

{ int i,j,8,w;
if (g-p < K) return straight_sort(p,q); M
else |
1 =Pp; 1 =4g; B = 8elect(); @
while (i <« j) {
for (; all]l <= 8; 1i++) @
for (; alj]l »= 8; J--) ;
if {1 == g+l || § == p-1) return 1; @
} if {1 <« 3) {w = ali)l; alil = aljl; alj]l = w;}
if {1 == ) {i = i+1; 3 = §-1;) ®
quicksort (p,j}; guicksort({i,q}; return 0; @&
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Int quicksort(int p; int Q)
{inti,j.s; .
If (p-q < K) return straight-sort(p,q);
else { i=p+1. j= G 5= alp]
while (]l<J) _ 8.8 (i<q)i++)
or(;(afi]<=s 1<Q);1++);
forg; _aljl>s)<%L& '_>F§J'? ;
) If (1<) swap(&ali],&alj]);
1 Ta[jl<=s, j<=i ALY II>TL V5,
swap(&a[p], &aljl);
quicksort(p,J-1); quicksort(j+1,q);
return 0O;
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Int NonRecursiveQuicksort(int n); P 178 Fl:ﬁ % : 2

{

Inti, j, s, w;
stack S;
push(1,n,S);
while (lempty(S)) {
pop(p.q.S);
If (g-p<K) straight_sort(p,q);
else {
I=p; J=q; s=select();
while (i<j){
for (;a[i]<=s;i++);
for (;a[j]>=s; J--);
if (i==g+1 || j==p-1) return 1,
\ If (i<j) {w=a[i]; a[i]=a[j];alj]=w;}
if (i==]) {i=i+1; j=j-1;}
if (p<j) push(p,j,S) ; if (i<q) push(i,g,S);
}
}
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